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Scientific Notation
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2. Fill in the blanks.
(1) 1000=10""
(2) 1000000=10"
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3) ——=10
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(4) 0.00000001 =10"
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Example. Express 830000 in scientific notation

Exercise. Express 62500 in scientific notation
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(2) 0.000678 i& i Hc 3 % 4
(3) T #0.000678 11 % B Ny A
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Example. Express 0.0095 in scientific notation

Exercise. Express 0.00007 in scientific notation
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Examplel. Which is larger?
(1) 3.6x107 and 4.57x10°
(2) 5.86x10° and 7.4x10°

Exercisel. Which is larger?
(1) 5.71x10% and 9.98x10*
(2) 8.2x10% and 7x10°

Example 2. Which is larger?
1.23x10 8 and 2.54x10 3

Exercise 2. Which is larger?
7.39x10 % and 4.7x10 2
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7.1x10° seven point one times ten to the power of six

1
— one over ten
10
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1| ko 9 sv g o 4 dc i 5 o What does 3° mean? It means 3 is multiplied by itself 5

times, so 3° is equal to 3 times 3 times 3 times 3 times 3.

Now let’s start with this table. It is similar to the table we used last time. Last time the

base was 3. This time, the base is 10, but they are quite similar. We look at the middle part

. first. What is 10 to the power of 1? It means 10 multiplied by itself 1 time, so it is equal to
10. Then, 10 to the power of 2 is 100, 10 to the power of 3 is 1000, and so on.
BLRA PR E F AL - %é)?ug FIL10e Figk » A PE AT - ¢ "fu 10 >
: AR URE AT - £ E 3k 10 & 2 1 ° So, the number under 10 is 1, and the next

number is 1 over 10. Next one is 1 over 100, and the last one is 1 over 1000. Of course, you

can keep going, but now we stop right here.

Let’s take a look at the exponent. We have already known 10 to the power of 1 is 10, 10
to the power of 2 is 100, and 10 to the power of 3 is 1000. How about the following
numbers? A F BB e A o dek AR L - o dpdc g SRR 7§
4 | MAptcAte 1o A E R > dok B AT - 0 dpdte g 1 o If we use the same
way, we can say that 1 is equal to 10 to the power of 0, 1 over 10 is equal to 10 to the power
of negative 1, 1 over 100 is equal to 10 to the power of negative 2, and 1 over 1000 is equal
to 10 to the power of negative 3.

Next part, we have to fill in the blanks. We see question number one. What is 1000 equal
5 | to? Itis 10 times 10 times 10, so it is 10 to the power of 3. Next one, what is 1000000 equal
to? Again, how many 10s multiply together? 6. So the answer is 6.
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